
MATHEMATICS KANGAROO 2012 
Austria - 15.3.2012 

 
Group: Benjamin, Grades: 5-6 

 
Name:  

School:  

Class:  

 
 
Time allowed: 60 min. 
Each correct answer, questions 1.-8.:   3 Points 
Each correct answer, questions 9.-16.:   4 Points 
Each correct answer, questions 17.-24.:  5 Points 
Each question with no answer given:   0 Points 
Each incorrect answer:  Lose ¼ of the points for that question. 
You begin with 24 points. 
 
 
 
Please write the letter (A, B, C, D, E) of the correct 
answer under the questions number (1 to 24) 
Write neatly and carefully! 
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Information on the Kangaroo contest: www.kaenguru.at
If you want to do more in this area, check out the Austrian 
Mathematical Olympiad. Info at: www.oemo.at 
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